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ey T dld not than: yoau for —ove lLatter barars.

he work got shelvad owlng mertly ta =xtra lecturine, bot I A
Fetilne down to Lt arein. I think that my oroblem oo ba tanilad
by & msihod eomething like one thet was in my Ll reirika va-er
oriFine 1y, buvt wihdrarn hecsuse teyman had got ae nesr 't ra
didn't metter for the immedlst- mirooss. +he metian rtondard
arrnr for the 10° anurves Lfr:E;anmﬂlr roedvced to m2an helght of
the eouvare) is 14 mrel, wresumsbly genrine. pvt the scatter »f
the . e'uced valuea earresponds tn 8n e tra vorilatinn with mesn
sguare 22 mrel. :rhe latter will include Alstu.b-noces by harwonics
of all nidera up t2 %0 or so. the leck of Mnowladpe 192 ebut haw
ta divide it between mny 3rd and 36th harronice. wsow thie 1s very
11k: the »roblem of rempllng & porulet'on of several tv-es, wheprs
w2 have dlrant latarmation sbout s~we - the tynes, but others
are not envnled sand can he ertireted only from tha wmean and
acatiar ot the observed ones; we want the mean of the éntire
pamlation. Let n, be the nurber of semnled tyres end g tha
gamnling r.e. for earh, fg the numb-1r of tymes nst samnled and
f the eatlmated extre ecetter between tynes. .hen noplecting§ the
8.2, for rthe mean of the whole would be &/4M,. wut the unobsarved
tv-es give an =Xtra @ /r. in the sum snd therefora ;é}: in the
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vhls supgesats that wa ~hould be able to teke the etirndrird error
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of an obaerved ty=-Ho ae -ﬂ"."+ my, end then treat tha spahlem



g a otr-lght least souares on: 'mil:ed tn the :ﬂﬁmlﬂﬁ:’uﬂ.ﬂ. It
doesn't seem thet the gravity nrobler 18 worse 1in rinninle,
“xeent thet the vresent estimaie of & inclides all the variertisn
end will heve to he reduced as succesglve terms are removed from
it.

What I mean hy a 1&“"squﬂr& 1z & rerinn hounded by prrallels
end meridiens 109 gnart, There =111 ba”rame veristisn of L. w' th
latituds ln'ﬂﬂnaaquanne. hut 't wen't be more than in e ratis of
1 to /2, L think, an? can be dealt with fairly a-aile:
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